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AADC 2 ABEC (AA B2)

AC :BC=DC :EC

18 :(BD+4)=4 : 8

4BD + 16 = 144

4BD = 128,BD = 32
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S AABC °A /B = /ACD,
18cm, AD = 10cm ¢ @, BD 9

Fatelet.

C
lo

m\l
)

]

=1 cm

| 2
[> el 224 cm

B

/B =/ACDO9|1 /A= Z5o|BZ2
AACD @0 AABC (AA F2)
~10:18 =18 : AB

AB =32.4cm
.. BD=AB-10 = 32.4 - 10 = 22.4( cm)




O Z™olA ZABC = /AED o o, @2 749+ 7|52 YeiaL
x 9] Zolg stz

>
> &2 AABCDAAED, x = 16 (cm)

AABC @0 AAED (AA H+)
AB :AE = AC :AD,

16:8 =(8 + x) :12

8x + 64 = 192,8x = 128

x = 16(cm)




7.t 294 AD//EF//BC 9 1), DF : FC ] H]=?

-ocm-~ .

D 2:3 @3:2 ® 4:9 @ 2:5

DF:FC=AE:EB=3:2




th-& 197} 2o] AD // BF // BC
A, v,y o hE a7

® x=15,y=136

@x =16,y =13.6

® x=17,y=146

@ x=17,y=15.6

® x=18,y=136

8:2=x:4,x=16

_ 14x8+12x2:@:13'6
2+8 10
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BE : CD
11:22
L x=16

ABEF ¢0 ACDF ©]2.& CF = x 2} 5}

=BF : CF
=(24-x):x




11. t2 I3o)A DE, EF, FD %14 aABC 2] WHol| B33t 4
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52 54 57 60
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Lol & Ffedel,

12;10:10:?%5&@//@
CF:CA=FE:AB
12:22 =FE: 16
22FE = 192
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13. & 1A AD & /BAC 9] o]5EAHo]1, AB =9, AC = 6
olt}. AABD 9] Ylo]E a 2t & wf, AADC 2] Yo|E a of Tt
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®§a @ 2a ®)=a @ 3a @ga

BD:DC=9:6=3:20°]22 AABD : AADC =3:2
a: AADC=3:2

. AADC = ga




14. 2 2HA AD & /A 9] o] 5EAo|tt, AACD 9] { ol 30cm?
o|th, AABC 9] Ho]&=?

@ 18cm? @ 30cm? ® 38cm?

@ 45cm? ®3)48cm?

~&B ~

AD = /A o] o5 B HolmE AB: AC=BD:DC=3:5
AABD 9} ABDC 9|4 0] a1 WE o] 3: 50|22 AABD
30=3:5

AABD = 18 cm?

. AABC = 30 + 18 = 48( cm?)




15. AABC °A (A o] o] 52413 ¥ BC o] w42 D = & o, AABD
©] §ol7} 28cm? o], AADC 9] Ho]=?

@ 1l4cm? @ 18cm? ®)21cm?

@ 24cm? ® 49cm?

S5 \
AB: AC = BD: DC o|E=2

BD:DC=4:3

m2hx] AABD 9F AADC 9] Ho]9] Hli= 4 : 3 o]t}

AADC O] Ylo]E x2} olH 4:3 =28: x0|B&

x = 21(cm?) ]t}

m2tA AADC 9] Bl o]+= 21 em? O]t




